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What if she had all these defects — 7 Y9957 PRI B 12 19

OVERVIEW

The X3 cites a X012, which states; if someone says, ‘this 7n5w which I am
selling you has many defects’ (which he enumerated); however in truth she only
had one defect which the purchaser objected to; the rule is that the sale is invalid.'
If, however the seller said, ‘it has this 21 (which it had) and (an)other unspecified
(D)o, the sale is valid.> X217 277 712 KX 27 posed the following query to 27
"wX; what is the ruling in a case where the owner specified many 727 and it turned
out (after the sale) that indeed she had all these n; is it a MyY 1P or not. NMHOIN
explains both sides of this query.

mbdon first explains the side of the query why it should be a myv fipn:*
= MYV NPNR N “nan 19199 DY 1110 9999 NIYT MYV NPN N1 29N NPT RNIA

The xn»»12 which states that this is a mww np» (in the case where he specified
many 117), perhaps it is (even) discussing a case where for instance the 7mow
had all these "% and nevertheless it is a nwyw np» -

- 1ANA 959N NN DTa NIV 99 Y 9N
Even though the buyer did not check out even one o of the many which the seller

enumerated. The reason it is a Myv npnA is -
= R5PY 1) KD RN RO 109199 1799Y NPT 2N Y3 NINDN NPIY 9NINT DIVN

" The buyer assumes that since she did not have many of the (other) apparent defects, she must probably does not
have this particular defect (which she actually had). The buyer assumes that the seller was exaggerating (by
mentioning all these non-existing defects) so the buyer should not complain later.
* Since the seller specified only one Di», the buyer should have checked it out, and since he did not, this indicates
that he did not mind this am.
? Seemingly if we were to assume that by v"pn 1"77 7287 1A 93 12 17, why does our X1 state, 7K D 712
0" 177 PR 12 1930), the X012 should have stated a greater w17°n that even if v'"pn 1">97 PRI 93 72 vi! 'oin will
explain that indeed this is what the Xn»72 means.
* We will need to say (according to this side of the query) that when the Xn*12 states TR 1°2 19101 7K D 72 77,
that this X 01 refers to the one 2, which the buyer objects to, but since it was included among all the other a1,
which the buyer did not mind, it is a nyv 1P as N19OIN continues to explain.
> The fact that he was not p7a should presumably validate the sale. In a case where the 7mow had one 0w, but the
seller enumerated many (which she did not have), one may assume that the np1? saw that she does not have one or
more of the other enumerated 1, so presumably she does not have this 0¥, which the 1> is particular about.
However in this case where she had all the 1 (so we cannot say that the n1? noticed that she did not have one (or
some) of the 0°nn), and (additionally) he did not bother to make (even) a superficial search; this should indicate that
these 1"m11 are of no concern to him and the sale should be valid. Nonetheless we can maintain that it is a Myv npn.
%It is highly improbable that one person should be afflicted with so many defects. See (also) footnote # 1.
7 See “Thinking it over’ # 1.
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For the npY? thought; presumably this 7ndw cannot possibly have all these P
that the seller is mentioning, so since she does not have all the 7» 1, she does not
have this particular o, which I am concerned about —

mooIn continues to explain the X9°0 of the XnN»72 according to this side of the query that it is a
nyy npn:
= 4N NN 9991 PRV 1995 *myv NPN DT PN INN DI DT 01N

And in the case where the 7121 said it has this 2 (which the buyer objects to) and
another unspecified 0, this is not a nwww P, The reason is that since the seller

is mentioning only one 2% (which the buyer objects to) therefore it is a valid sale -
- IRIPY 393 N NIPY N1 99909 TV N9

For here it is not applicable to say since she does not have this (unspecified) 21
she also does not have this specified o1! With this Mmoo completes one side of the query.

mooIn now explains the other side of the query why it should not be a v"pn:
= 199195 135D RIOD 139N MYV NPNI AT 29N 2INPT NN NIYTIN

Or perhaps this case where the Xn»"2 states mww np» 1''997, is where the 7w

did not have all the »m enumerated; she only had this one 0% which the np1? objects to -
- YPUN M TN THA TPUNRTH AN RIPYT AINYINY 1799 Tha nmb 993

And the ™ checked one of other defects which the owner mentioned, and
realized that it does not exist, so the 717> assumed since the seller is lying

regarding this 0, he is also lying regarding the other ow, which the np1% objects to,

and therefore he did not inquire regarding the objectionable defect -
= MYV NPN NN RY NN oD ON YaN

However if all the defects were true (as is the case in the query), it would not be
a Ny npn, since the ni?1% did not bother to check at all, so he was 92°1 7°20 —

Moo responds to an anticipated difficulty:'!

¥ Presumably one may argue that here too it is a N nipn, for since the mpY> (perhaps) does not see other 121, he

assumes that since there are no other "1, the specified o1 is also not there. Md0I1N responds that this is illogical.

? The rip> does not even know which unspecified o the seller means, so how can the mp¥ assume Xn™ 1 KT X1™2 K72,

19 According to the side that it is a v"pn, we need to say that the np1> was not p712 at all (for according to this 7% the

Xn*11 is [also] discussing the case where 17 %5 72 1°7) for if he was p712 he would have found a 0 and we would

say (the opposite) that Xn°X *»1 X7 XX X372 (since it has one 0w it also has the o1 which I object to). However

according to this 7% that it is not a v"pn if P 93 72 17, the XN™12 is discussing where it only had this one o

which the np"? objected to, and the only reason it is a v"pn is because he was P72 one 0 (from the other

enumerated 0°»1) and realized the was no such 012. However, if he was not 712 at all it would not be a v"pn, for we

could not apply the &720 of Tpwn M1 77°X2 772 WPwnTA.

' We are now assuming (on this side of the query) that if myw npn "X Paw 5 72 ¥7; so why does the Xn™12
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= 19199 195 19 993N 124N NN 9NN 01 DT 0N MINPT NI
And this which the Xn>12 states, 'R 211 777 2w, it is not limited to this case
only, but rather the same rule (of v"pn 71 X) will apply even if the seller

mentioned many >3, that it is not a v"pn —
- YO NPN NI PR N2 BNIY ¥

Since she has all these 717 it is not a ©v''P%, for the np1» did not check it out.

mooIN continues: '
=2 PX HNNI N2 YW HNN 121299 Y 901D ONT yIYnN Lma1m91 XNaoINa

It seems from the XnpoIn in M2n> NOon that if the seller mentioned (specifically)

two 2, one which she has and one which she does not have -
- 1A PRY PN D397 1721930 29 KT RIN MYV NPN M1 K91

That it is not a v''p», unless he included the 07 which she had, specifically

among many other 122 which she does not have -
= 19199 N2 PRY N0 DY TN Y WTP N9Y 99N 0I99 Ty’ 01 DIUHY 1Y NI 2917

For this is what it states in the P75 which begins, '2399 o2y 21 awhw 7¥'; he
said to his friend, ‘be w7p» your daughter to me with the stipulation that she

has no "»%’° -
= N 11’993 N 1IMNYY NN NVIV 1Y 99N

The father responded to him, ‘she is a 7w, she is NoRAYW, she is 792°, the xn>12
there rules -
- “mvo N At PR MY 9NN DI DINH IMN 1YY 9N DN

If the father mentioned that 2%, which she had, and also mentioned another 2%

with it, which she did not have, it is not a ©''p» -
YL NPN DTN 122319 NN OYI9IDY DI N D

However if she had a 2% and he included it with many 1°2Y%» (which she did not
have), it is a v''Pn.

merely state that v"pn 1R 99X 011 77 0%, when the Xn*"12 should have said that even if he mentioned many 71 and
1M 22 12 11, nevertheless v'"pn 1K, This is a greater w17°n, for even if it has so many 12 it is not a v"pn, and we
do not say (as we said in the other side of the query) Xn°? *n1 R Xn*2 K721 1772197 37007 MRPT °17 95 Ranon. See
‘Thinking it over’ # 2. However according to the other side of the query (that v"pn 177 17 92 712 1) it is readily
understood why the Xn*>12 states v"pn 19K IR 1M 77T O, because by 1A 73 72 17 it is a v"pPr (see footnote # 6).
2 moon is offering an alternate explanation why the X092 states nx D11 77 2% instead of 1A 93 72 17 according
to the side of the query that it is not a v"pn (see footnote # 11). See footnote # 14.
Butas.
1 [See footnote # 12.] mpon will learn that when our Xn*2 stated ©"pn 1K AR oM 71 oM it did not mean (the way
we understood until now) that the 7rX 01 was unspecified (see o 73"7 *"w1), but rather he specified the other o,
and our &n»71 is teaching us a W17°17 (as stated in the Xn501N) that it is a v"pn only if @M M 7277 QY 1910, but if he
combined it with only one other 0, it is not a v"pn (see X"wIN).
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SUMMARY

The query depends on whether we can interpret that the Xn»92 is also discussing
the case of P %5 72 17 and it is a v"pn (if P72 RY), because we say 17 22 Xnnon
RND M1 R RNPD RATMY 172192 37007 NRPT, or we say the Xn*>02 is discussing only if
she had one 0, and it is a ©"pn (if P72) because we say PWM M1 TTR2 PWA RATA.

THINKING IT OVER
1. How is it even conceivable that the seller enumerated all the defects and
nevertheless it should be a v"pn?"> What else could the 191 have done?!

2. mooin finds it necessary to explain'® (according to the 7 that "X 1 93 72 i
v'"pn) Why the Xn»92 states ©"Pr 1K AR 211 77 21 (and not 1K PRIAA el
v"pn)."” Seemingly according to this 7%, when the Xn»93 stated that it is a v"pn
where 72117 7°2 1910, we are discussing where there were no other 711 (just the one
which the 17 objected to), therefore the following case of v"pn 1R IR QWA 77 0N
is (presumably) also in a case where there was no other o, If, however, the seller
would have mentioned many 7»% (and she would not have them) it would be a
v"Pn (as the case is in the X7 of the Xn>72). Why is n1v01n bothered why it does
not say many mn,"® since in the Xn»12 we are discussing cases where she only has
one 01, and the Xn>12 differentiates, whether he mentioned other 1212 (where it is
a 1v"pn), or whether he did not mention other P (where it is not a v"pn)!"

15 See footnote # 7.
1 See footnote # 11.
7 mpoin maintains that xR DY 77 0 is XP17 X7 and includes also P 95 172 1.
'8 mpoin obviously means that he mentioned many 77 and she had them all.
19 See *pom2w 7" MW,
4

TosfosInEnglish.com



